"Basic" Algebras

Radomír Halaš → Jan Kühr

Department of Algebra and Geometry Faculty of Science Palacký University in Olomouc Tř. 17. listopadu 12, 77146 Olomouc, Czech Republic kuhr@inf.upol.cz

э

Ivan's "Basic" Algebras

Radomír Halaš → Jan Kühr

Department of Algebra and Geometry Faculty of Science Palacký University in Olomouc Tř. 17. listopadu 12, 77146 Olomouc, Czech Republic kuhr@inf.upol.cz

Definition

A basic algebra is an algebra $(A, \oplus, \neg, 0)$ of type (2, 1, 0) that satisfies the identities

$$\begin{aligned} x \oplus 0 &= 0, \\ \neg \neg x &= x, \\ \neg (\neg x \oplus y) \oplus y &= \neg (\neg y \oplus x) \oplus x, \\ \neg (\neg (x \oplus y) \oplus y) \oplus z) \oplus (x \oplus z) &= \neg 0. \end{aligned}$$

Do not confuse with Hájek's basic logic and BL-algebras! The intersection of our basic algebras and BL-algebras are just MV-algebras.

/⊒ ▶ < ∃ ▶ <

Sectionally pseudocomplemented lattices = a non-distributive generalization of relatively pseudocomplemented lattices:

Definition

A **sectionally pseudocomplemented lattice** is a lattice with greatest element such that every **section** is a pseudocomplemented lattice.

Definition

By a **section** in a lattice we mean a principal filter.

→ □ → → 三 → → 三 →

Sectionally pseudocomplemented lattices = a non-distributive generalization of relatively pseudocomplemented lattices:

Definition

A **sectionally pseudocomplemented lattice** is a lattice with greatest element such that every **section** is a pseudocomplemented lattice.

Definition

By a **section** in a lattice we mean a principal filter.

▲ 同 ▶ ▲ 国 ▶ ▲ 国 ▶ …



We can define the binary operations \diamond and \rightarrow by

$$x \diamond y := x^{x \wedge y}$$
 and $x \to y := (x \vee y)^y$

and regard sectionally pseudocomplemented lattices as algebras $(A, \lor, \land, \diamond, 1)$ or $(A, \lor, \land, \rightarrow, 1)$. For $x \ge a$ we have

$$x^a = x \diamond a = x \rightarrow a.$$

| 4 同 🕨 🖌 🖉 🕨 🔺

If the relative pseudocomplement x ∗ y of x w.r.t. y exists, then x ∗ y = x ◊ y = x → (x ∧ y). Indeed, x ∧ (x ◊ y) = x ∧ y implies x ◊ y ≤ x ∗ y, and x ∧ (x ∗ y) = x ∧ y yields x ∗ y ≤ x ◊ y.





 $x \diamond y := x^{x \wedge y}$ and $x \to y := (x \lor y)^y$

and regard sectionally pseudocomplemented lattices as algebras $(A, \lor, \land, \diamond, 1)$ or $(A, \lor, \land, \rightarrow, 1)$. For $x \ge a$ we have

$$x^a = x \diamond a = x \rightarrow a.$$

イロン 不同 とくほう イロン

If the relative pseudocomplement x * y of x w.r.t. y exists, then $x * y = x \diamond y = x \rightarrow (x \land y)$. Indeed, $x \land (x \diamond y) = x \land y$ implies $x \diamond y \le x * y$, and $x \land (x * y) = x \land y$ yields $x * y \le x \diamond y$. We can define the binary operations \diamond and \rightarrow by



$$x \diamond y := x^{x \wedge y}$$
 and $x \to y := (x \lor y)^y$

and regard sectionally pseudocomplemented lattices as algebras $(A, \lor, \land, \diamond, 1)$ or $(A, \lor, \land, \rightarrow, 1)$. For $x \ge a$ we have

$$x^a = x \diamond a = x \rightarrow a.$$

< ロ > < 同 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ >

If the relative pseudocomplement x * y of x w.r.t. y exists, then $x * y = x \diamond y = x \rightarrow (x \land y)$. Indeed, $x \land (x \diamond y) = x \land y$ implies $x \diamond y \le x * y$, and $x \land (x * y) = x \land y$ yields $x * y \le x \diamond y$. We can define the binary operations \diamond and \rightarrow by



$$x \diamond y := x^{x \wedge y}$$
 and $x \to y := (x \lor y)^y$

and regard sectionally pseudocomplemented lattices as algebras $(A, \lor, \land, \diamond, 1)$ or $(A, \lor, \land, \rightarrow, 1)$. For $x \ge a$ we have

$$x^a = x \diamond a = x \rightarrow a.$$

(人間) (人) (人) (人) (人) (人)

If the relative pseudocomplement x * y of x w.r.t. y exists, then $x * y = x \diamond y = x \rightarrow (x \land y)$. Indeed, $x \land (x \diamond y) = x \land y$ implies $x \diamond y \le x * y$, and $x \land (x * y) = x \land y$ yields $x * y \le x \diamond y$.



Basic algebras = bounded lattices with sectional antitone involutions, i.e., every section [*a*) is equipped with an antitone involution γ_a . We shall write x^a instead of $\gamma_a(x)$.

□→ < □→</p>



Basic algebras = bounded lattices with sectional antitone involutions, i.e., every section [a) is equipped with an antitone involution γ_a . We shall write x^a instead of $\gamma_a(x)$.

/⊒ ► < ∃ ►



Basic algebras = bounded lattices with sectional antitone involutions, i.e., every section [a) is equipped with an antitone involution γ_a . We shall write x^a instead of $\gamma_a(x)$.

/⊒ ► < ∃ ►



Basic algebras = bounded lattices with sectional antitone involutions, i.e., every section [a) is equipped with an antitone involution γ_a . We shall write x^a instead of $\gamma_a(x)$.

/⊒ ► < ∃ ►

- Orthomodular lattices: If $(A, \lor, \land, ', 0, 1)$ is an OML, then $x \mapsto x' \lor a$ is an antitone involution on [a).
- MV-algebras: An MV-algebra (A, ⊕, ¬, 0) is a commutative monoid (A, ⊕, 0) with a unary operation ¬ satisfying the identities

$$\neg \neg x = x,$$

$$x \oplus \neg 0 = \neg 0,$$

$$\neg (\neg x \oplus y) \oplus y = \neg (\neg y \oplus x) \oplus x.$$

• Basic algebras = a common generalization of orthomodular lattices and MV-algebras

・ロト ・ 日 ・ ・ ヨ ・ ・ ヨ ・

- Orthomodular lattices: If $(A, \lor, \land, ', 0, 1)$ is an OML, then $x \mapsto x' \lor a$ is an antitone involution on [a).
- MV-algebras: An MV-algebra (A, ⊕, ¬, 0) is a commutative monoid (A, ⊕, 0) with a unary operation ¬ satisfying the identities

$$\neg \neg x = x,$$

$$x \oplus \neg 0 = \neg 0,$$

$$\neg (\neg x \oplus y) \oplus y = \neg (\neg y \oplus x) \oplus x.$$

• Basic algebras = a common generalization of orthomodular lattices and MV-algebras

・ロト ・四ト ・モト ・モト

- Orthomodular lattices: If $(A, \lor, \land, ', 0, 1)$ is an OML, then $x \mapsto x' \lor a$ is an antitone involution on [a).
- MV-algebras: An MV-algebra (A, ⊕, ¬, 0) is a commutative monoid (A, ⊕, 0) with a unary operation ¬ satisfying the identities

$$\neg \neg x = x,$$

$$x \oplus \neg 0 = \neg 0,$$

$$\neg (\neg x \oplus y) \oplus y = \neg (\neg y \oplus x) \oplus x.$$

• Basic algebras = a common generalization of orthomodular lattices and MV-algebras

ヘロン ヘロン ヘビン ヘビン

- Orthomodular lattices: If $(A, \lor, \land, ', 0, 1)$ is an OML, then $x \mapsto x' \lor a$ is an antitone involution on [a).
- MV-algebras: An MV-algebra (A, ⊕, ¬, 0) is a commutative monoid (A, ⊕, 0) with a unary operation ¬ satisfying the identities

$$\neg \neg x = x,$$

$$x \oplus \neg 0 = \neg 0,$$

$$\neg (\neg x \oplus y) \oplus y = \neg (\neg y \oplus x) \oplus x.$$

• Basic algebras = a common generalization of orthomodular lattices and MV-algebras

- Orthomodular lattices: If $(A, \lor, \land, ', 0, 1)$ is an OML, then $x \mapsto x' \lor a$ is an antitone involution on [a).
- MV-algebras: An MV-algebra (A, ⊕, ¬, 0) is a commutative monoid (A, ⊕, 0) with a unary operation ¬ satisfying the identities

$$\neg \neg x = x,$$

$$x \oplus \neg 0 = \neg 0,$$

$$\neg (\neg x \oplus y) \oplus y = \neg (\neg y \oplus x) \oplus x.$$

• Basic algebras = a common generalization of orthomodular lattices and MV-algebras

イロト 不得 トイヨト イヨト 二日

- The equivalent algebraic semantics for the Łukasiewicz many-valued propositional logic.
- The variety of MV-algebras is generated by the standard MV-algebra ([0,1], ⊕, ¬, 0) where

All MV-algebras can be obtained as follows:
 Let (G, +, 0, ∨, ∧) be an Abelian lattice-ordered group and u ∈ G⁺. Then ([0, u], ⊕, ¬, 0) is an MV-algebra where

$$x \oplus y := u \wedge (x + y)$$
 and $\neg x := u - x$.

 GMV-algebras = a non-commutative generalization of MV-algebras.

▲御▶ ★注▶ ★注▶

- The equivalent algebraic semantics for the Łukasiewicz many-valued propositional logic.
- The variety of MV-algebras is generated by the standard MV-algebra ([0,1], ⊕, ¬, 0) where

 All MV-algebras can be obtained as follows: Let (G, +, 0, ∨, ∧) be an Abelian lattice-ordered group and u ∈ G⁺. Then ([0, u], ⊕, ¬, 0) is an MV-algebra where

$$x \oplus y := u \wedge (x + y)$$
 and $\neg x := u - x$.

 GMV-algebras = a non-commutative generalization of MV-algebras.

▲圖 ▶ ▲ 国 ▶ ▲ 国 ▶

- The equivalent algebraic semantics for the Łukasiewicz many-valued propositional logic.
- The variety of MV-algebras is generated by the standard MV-algebra ([0,1], \oplus , \neg , 0) where

All MV-algebras can be obtained as follows:
 Let (G, +, 0, ∨, ∧) be an Abelian lattice-ordered group and u ∈ G⁺. Then ([0, u], ⊕, ¬, 0) is an MV-algebra where

$$x \oplus y := u \wedge (x + y)$$
 and $\neg x := u - x$.

• GMV-algebras = a non-commutative generalization of MV-algebras.

・ 同 ト ・ 三 ト ・ 三 ト

- The equivalent algebraic semantics for the Łukasiewicz many-valued propositional logic.
- The variety of MV-algebras is generated by the standard MV-algebra ([0, 1], ⊕, ¬, 0) where

 All MV-algebras can be obtained as follows: Let (G, +, 0, ∨, ∧) be an Abelian lattice-ordered group and u ∈ G⁺. Then ([0, u], ⊕, ¬, 0) is an MV-algebra where

 $x \oplus y := u \land (x + y)$ and $\neg x := u - x$.

• GMV-algebras = a non-commutative generalization of MV-algebras.

- The equivalent algebraic semantics for the Łukasiewicz many-valued propositional logic.
- The variety of MV-algebras is generated by the standard MV-algebra ([0, 1], ⊕, ¬, 0) where

 All MV-algebras can be obtained as follows: Let (G, +, 0, ∨, ∧) be an Abelian lattice-ordered group and u ∈ G⁺. Then ([0, u], ⊕, ¬, 0) is an MV-algebra where

$$x \oplus y := u \land (x + y)$$
 and $\neg x := u - x$.

 GMV-algebras = a non-commutative generalization of MV-algebras.

$$x \oplus y := (x^0 \lor y)^y$$
 and $\neg x := x^0$,

then the algebra $(A,\oplus,\neg,0)$ satisfies the identities

$$x \oplus 0 = 0, \tag{BA1}$$

$$\neg \neg x = x, \tag{BA2}$$

$$\neg(\neg x \oplus y) \oplus y = \neg(\neg y \oplus x) \oplus x, \tag{BA3}$$

$$\neg(\neg(\neg(x\oplus y)\oplus y)\oplus z)\oplus(x\oplus z)=\neg 0.$$
(BA4)

イロト 不得 トイヨト イヨト 二日

We have $x \lor y = \neg(\neg x \oplus y) \oplus y$ and $x \land y = \neg(\neg x \lor \neg y)$, and $x^a = \neg x \oplus a$ for $x \in [a)$.

$$x \oplus y := (x^0 \lor y)^y$$
 and $\neg x := x^0$,

then the algebra $(A, \oplus, \neg, 0)$ satisfies the identities

$$x \oplus 0 = 0, \tag{BA1}$$

$$\neg \neg x = x, \tag{BA2}$$

$$\neg(\neg x \oplus y) \oplus y = \neg(\neg y \oplus x) \oplus x, \tag{BA3}$$

$$\neg(\neg(\neg(x\oplus y)\oplus y)\oplus z)\oplus(x\oplus z)=\neg 0.$$
(BA4)

イロト 不得 トイヨト イヨト 二日

We have $x \lor y = \neg(\neg x \oplus y) \oplus y$ and $x \land y = \neg(\neg x \lor \neg y)$, and $x^a = \neg x \oplus a$ for $x \in [a]$.

$$x \oplus y := (x^0 \lor y)^y$$
 and $\neg x := x^0$,

then the algebra $(A, \oplus, \neg, 0)$ satisfies the identities

$$x \oplus 0 = 0, \tag{BA1}$$

$$\neg \neg x = x, \tag{BA2}$$

$$\neg(\neg x \oplus y) \oplus y = \neg(\neg y \oplus x) \oplus x, \tag{BA3}$$

$$\neg(\neg(\neg(x\oplus y)\oplus y)\oplus z)\oplus(x\oplus z)=\neg 0.$$
(BA4)

イロト 不得 トイヨト イヨト 二日

We have $x \lor y = \neg(\neg x \oplus y) \oplus y$ and $x \land y = \neg(\neg x \lor \neg y)$, and $x^a = \neg x \oplus a$ for $x \in [a]$.

$$x \oplus y := (x^0 \lor y)^y$$
 and $\neg x := x^0$,

then the algebra $(A,\oplus,\neg,0)$ satisfies the identities

$$x \oplus 0 = 0, \tag{BA1}$$

$$\neg \neg x = x, \tag{BA2}$$

$$\neg(\neg x \oplus y) \oplus y = \neg(\neg y \oplus x) \oplus x, \tag{BA3}$$

$$\neg(\neg(\neg(x\oplus y)\oplus y)\oplus z)\oplus(x\oplus z)=\neg 0.$$
(BA4)

イロト 不得 トイヨト イヨト 二日

We have $x \lor y = \neg(\neg x \oplus y) \oplus y$ and $x \land y = \neg(\neg x \lor \neg y)$, and $x^a = \neg x \oplus a$ for $x \in [a]$. ② Let (A, ⊕, ¬, 0) be an algebra satisfying (BA1)–(BA4), and put

 $x \lor y := \neg(\neg x \oplus y) \oplus y$ and $x \land y := \neg(\neg x \lor \neg y)$.

Then $(A, \lor, \land, 0, 1)$, where $1 := \neg 0$, is a bounded lattice whose underlying order is given by

$$x \leq y$$
 iff $\neg x \oplus y = 1$,

and for each $a \in A$, the map

 γ_a : $x \mapsto \neg x \oplus a$

is an antitone involution on [a). We have $\neg x = \gamma_0(x)$ and $x \oplus y = \gamma_y(\neg x \lor y)$.

・ロット (雪) (き) (き) (き)

② Let (A, ⊕, ¬, 0) be an algebra satisfying (BA1)–(BA4), and put

 $x \lor y := \neg(\neg x \oplus y) \oplus y$ and $x \land y := \neg(\neg x \lor \neg y)$.

Then $(A, \lor, \land, 0, 1)$, where $1 := \neg 0$, is a bounded lattice whose underlying order is given by

$$x \leq y$$
 iff $\neg x \oplus y = 1$,

and for each $a \in A$, the map

 γ_a : $x \mapsto \neg x \oplus a$

is an antitone involution on [a). We have $\neg x = \gamma_0(x)$ and $x \oplus y = \gamma_y(\neg x \lor y)$.

Definition

A **basic algebra** is an algebra $(A, \oplus, \neg, 0)$ satisfying the identities

$$x \oplus 0 = 0,$$
 (BA1)

$$\neg \neg x = x, \tag{BA2}$$

▲ □ ▶ ▲ □ ▶ ▲

$$\neg(\neg x \oplus y) \oplus y = \neg(\neg y \oplus x) \oplus x,$$
 (BA3)

$$\neg(\neg(\neg(x\oplus y)\oplus y)\oplus z)\oplus(x\oplus z)=\neg 0.$$
 (BA4)

MV-algebras = commutative and associative basic algebras.

• Another motivation: basic algebras as a non-associative (and non-commutative) generalization of MV-algebras

Definition

A **basic algebra** is an algebra $(A, \oplus, \neg, 0)$ satisfying the identities

$$x \oplus 0 = 0,$$
 (BA1)

$$\neg \neg x = x, \tag{BA2}$$

$$\neg(\neg x \oplus y) \oplus y = \neg(\neg y \oplus x) \oplus x,$$
 (BA3)

$$\neg(\neg(\neg(x\oplus y)\oplus y)\oplus z)\oplus(x\oplus z)=\neg 0.$$
(BA4)

MV-algebras = commutative and associative basic algebras.

• Another motivation: basic algebras as a non-associative (and non-commutative) generalization of MV-algebras

 $\mathsf{OML's} = \mathsf{idempotent}\ \mathsf{basic}\ \mathsf{algebras}\ \mathsf{satisfying}\ \mathsf{the}\ \mathsf{quasi-identity}$

 $x \leq y \quad \Rightarrow \quad y \oplus x = y.$

Proof:

- $\neg x$ is a complement of x iff $x \oplus x = x$. Indeed, $x \oplus x = (\neg x \lor x)^x = x$ iff $\neg x \lor x = 1$.
- If A is an OML, then $x \le y$ implies $y \oplus x = (\neg y \lor x)^x = \neg(\neg y \lor x) \lor x = (y \land \neg x) \lor x = y$. If A is not an OML, then it contains



where $y\oplus x=(\neg y\vee x)^x=1^x=x$

(日)

 $\mathsf{OML's} = \mathsf{idempotent}\ \mathsf{basic}\ \mathsf{algebras}\ \mathsf{satisfying}\ \mathsf{the}\ \mathsf{quasi-identity}$

 $x \leq y \quad \Rightarrow \quad y \oplus x = y.$

Proof:

- $\neg x$ is a complement of x iff $x \oplus x = x$. Indeed, $x \oplus x = (\neg x \lor x)^x = x$ iff $\neg x \lor x = 1$.
- If A is an OML, then $x \leq y$ implies $y \oplus x = (\neg y \lor x)^x = \neg(\neg y \lor x) \lor x = (y \land \neg x) \lor x = y.$ If A is not an OML, then it contains



where
$$y \oplus x = (\neg y \lor x)^x = 1^x = x$$
.

▲ 同 ▶ ▲ 国 ▶ ▲ 国 ▶ …

 $\mathsf{OML's} = \mathsf{idempotent}\ \mathsf{basic}\ \mathsf{algebras}\ \mathsf{satisfying}\ \mathsf{the}\ \mathsf{quasi-identity}$

 $x \leq y \Rightarrow y \oplus x = y.$

Proof:

- $\neg x$ is a complement of x iff $x \oplus x = x$. Indeed, $x \oplus x = (\neg x \lor x)^x = x$ iff $\neg x \lor x = 1$.
- If A is an OML, then $x \le y$ implies $y \oplus x = (\neg y \lor x)^x = \neg(\neg y \lor x) \lor x = (y \land \neg x) \lor x = y.$ If A is not an OML, then it contains



where
$$y \oplus x = (\neg y \lor x)^x = 1^x = x$$
.

・ 同 ト ・ ヨ ト ・ ヨ ト …

OML's = idempotent basic algebras satisfying the quasi-identity

 $x \leq y \quad \Rightarrow \quad y \oplus x = y.$

Proof:

• $\neg x$ is a complement of x iff $x \oplus x = x$. Indeed, $x \oplus x = (\neg x \lor x)^x = x$ iff $\neg x \lor x = 1$.

• If A is an OML, then
$$x \le y$$
 implies
 $y \oplus x = (\neg y \lor x)^x = \neg(\neg y \lor x) \lor x = (y \land \neg x) \lor x = y.$
If A is not an OML, then it contains



where $y \oplus x = (\neg y \lor x)^x = 1^x = x$.

The smallest basic algebra which is neither an OML nor an $\ensuremath{\mathsf{MV}}\xspace$ algebra:



$$a \oplus b = (\neg a \lor b)^b = 1^b = b$$

- **→** → **→**

⊒ ▶
The term operation \ominus defined by

 $x \ominus y := \neg (y \oplus \neg x)$

is useful. We have:

• $x \oplus y = 1 \ominus ((1 \ominus y) \ominus x)$ and $\neg x = 1 \ominus x$;

• $x \leq y$ iff $x \ominus y = 0$;

• $x \lor y = (\neg y \ominus \neg x) \oplus y$ and $x \land y = x \ominus (x \ominus y);$

•
$$(x \wedge y) \oplus z = (x \oplus z) \wedge (y \oplus z);$$

•
$$x \ominus (y \land z) = (x \ominus y) \lor (x \ominus z).$$

If the lattice is distributive, then

•
$$(x \lor y) \oplus z = (x \oplus z) \lor (y \oplus z);$$

• $x \ominus (y \lor z) = (x \ominus y) \land (x \ominus z).$

A (1) < A (1) < A (1) < A (1) </p>

The term operation \ominus defined by

 $x \ominus y := \neg (y \oplus \neg x)$

is useful. We have:

•
$$x \oplus y = 1 \ominus ((1 \ominus y) \ominus x)$$
 and $\neg x = 1 \ominus x$;
• $x \le y$ iff $x \ominus y = 0$;

•
$$x \lor y = (\neg y \ominus \neg x) \oplus y$$
 and $x \land y = x \ominus (x \ominus y)$;

•
$$(x \wedge y) \oplus z = (x \oplus z) \wedge (y \oplus z);$$

•
$$x \ominus (y \land z) = (x \ominus y) \lor (x \ominus z).$$

If the lattice is distributive, then

•
$$(x \lor y) \oplus z = (x \oplus z) \lor (y \oplus z);$$

• $x \ominus (y \lor z) = (x \ominus y) \land (x \ominus z).$

イロン 不同 とくほう イロン

• For every $a \in A$, the map

$x \mapsto a \ominus x$

is an antitone involution on [0, a];

• [0, *a*] is a basic algebra when equipped with the operations defined by

 $x \oplus_a y := a \ominus ((a \ominus y) \ominus x)$ and $\neg_a x := a \ominus x$.

Observe that $x \ominus_a y := \neg_a (y \oplus_a \neg_a x) = x \ominus y$ for $x, y \in [0, a]$.

• For every $a \in A$, the map

$$x \mapsto a \ominus x$$

is an antitone involution on [0, a];

• [0, *a*] is a basic algebra when equipped with the operations defined by

 $x \oplus_a y := a \ominus ((a \ominus y) \ominus x)$ and $\neg_a x := a \ominus x$.

Observe that $x \ominus_a y := \neg_a(y \oplus_a \neg_a x) = x \ominus y$ for $x, y \in [0, a]$.

イロト 不得 とうせい かほとう ほ

The variety of basic algebras is congruence regular and arithmetical.

Regularity:

$$t_1(x, y, z) = (x \ominus y) \lor (y \ominus x) \lor z$$

 $t_2(x, y, z) = z \ominus ((x \ominus y) \lor (y \ominus x))$

Arithmeticity:

 $m(x,y,z) = (x \ominus (y \ominus z)) \lor (z \ominus (y \ominus x)) \lor (x \land z)$

▲□ ► < □ ► </p>

.⊒ . ►

Commutative BA's CBA's are distributive lattices

Theorem

The underlying lattices of commutative basic algebras are distributive.

Proof: If A contains a copy of N_5 , then

Commutative BA's CBA's are distributive lattices

Theorem

The underlying lattices of commutative basic algebras are distributive.

Proof: If A contains a copy of N_5 , then

and we have $a = 1^a = (\neg c \lor a)^a = c \oplus a = a \oplus c = (\neg a \lor c)^c = (\neg u)^c = (\neg b \lor c)^c = b \oplus c = c \oplus b = (\neg c \lor b)^b = 1^b = b.$ The case when A contains M_3 is analogous. \neg_a , \neg_a ,

The underlying lattices of commutative basic algebras are distributive.

Proof: If A contains a copy of N_5 , then



The underlying lattices of commutative basic algebras are distributive.

Proof: If A contains a copy of N_5 , then



The underlying lattices of commutative basic algebras are distributive.

Proof: If A contains a copy of N_5 , then



The underlying lattices of commutative basic algebras are distributive.

Proof: If A contains a copy of N_5 , then



Every commutative basic algebra has the Riesz decomposition property:

$$x \leq a \oplus b \quad \Rightarrow \quad x = a_1 \oplus b_1$$
 (RDP)

イロト 不得 トイヨト イヨト 二日

for some $a_1 \leq a$ and $b_1 \leq b$.

Proof: Put $a_1 := x \ominus b = x \ominus (x \land b)$ and $b_1 := x \land b$. Then $a_1 \leq (a \oplus b) \ominus b = a \land \neg b \leq a$ and

$$a_1 \oplus b_1 = (x \ominus (x \land b)) \oplus (x \land b) = x.$$

Every commutative basic algebra has the Riesz decomposition property:

$$x \leq a \oplus b \quad \Rightarrow \quad x = a_1 \oplus b_1$$
 (RDP)

for some $a_1 \leq a$ and $b_1 \leq b$.

Proof: Put $a_1 := x \ominus b = x \ominus (x \land b)$ and $b_1 := x \land b$. Then $a_1 \leq (a \oplus b) \ominus b = a \land \neg b \leq a$ and

$$a_1 \oplus b_1 = (x \ominus (x \land b)) \oplus (x \land b) = x.$$

Theorem

Every finite commutative basic algebra is an MV-algebra.

・ロン ・部 と ・ ヨ と ・ ヨ と …

э

Theorem

Every finite commutative basic algebra is an MV-algebra.

▲□ ▶ ▲ □ ▶ ▲ □ ▶

э

Theorem

Every finite commutative basic algebra is an MV-algebra.



Every finite commutative basic algebra is an MV-algebra.

а

Lemma

Every element of A is in the form

$$\bigvee_{\in M} n_a \otimes a,$$

(F)

イロン 不同 とくほう イロン

where *M* is the set of the atoms of *A*, and $n_a \in \mathbb{N}_0$ for all $a \in M$.

Here $n \otimes x := \underbrace{x \oplus \cdots \oplus x}_{n \text{ times}}$ for $n \in \mathbb{N}$, and $0 \otimes x := 0$. Proof: <u>Fact</u>: If $x \wedge y = 0$, then $x \oplus y = x \vee y$, and $(m \otimes x) \wedge (n \otimes y) = 0$ for all $m, n \in \mathbb{N}_0$.

Every finite commutative basic algebra is an MV-algebra.

а

Lemma

Every element of A is in the form

$$\bigvee_{m_a \otimes a, m_b \in M} n_a \otimes a,$$

(F)

where *M* is the set of the atoms of *A*, and $n_a \in \mathbb{N}_0$ for all $a \in M$.

Here $n \otimes x := \underbrace{x \oplus \cdots \oplus x}_{n \text{ times}}$ for $n \in \mathbb{N}$, and $0 \otimes x := 0$. Proof: <u>Fact</u>: If $x \wedge y = 0$, then $x \oplus y = x \vee y$, and $(m \otimes x) \wedge (n \otimes y) = 0$ for all $m, n \in \mathbb{N}_0$.

Suppose there is $z \in A$ which is not of the form (F). Then there exists $x \in A$ that is maximal among the elements which can be written in the form (F) and are less than or equal to z. Let $x = \bigvee_{a \in M} n_a \otimes a$. Further, there exists $y \in A$ such that $x \prec y \leq z$. Obviously, $b := y \ominus x$ is an atom and y is not in the form (F). Then

$$y = (y \ominus x) \oplus x = b \oplus \left(\bigvee_{a \in M} n_a \otimes a\right) = \bigvee_{a \in M} b \oplus (n_a \otimes a).$$

But for $a \neq b$ we have $b \oplus (n_a \otimes a) = b \lor (n_a \otimes a)$, so

 $y = (b \oplus (n_b \otimes b)) \vee b \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a = ((n_b + 1) \otimes b) \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a$

which is an element of the form (F), a contradiction.

Suppose there is $z \in A$ which is not of the form (F). Then there exists $x \in A$ that is maximal among the elements which can be written in the form (F) and are less than or equal to z. Let $x = \bigvee_{a \in M} n_a \otimes a$. Further, there exists $y \in A$ such that $x \prec y \leq z$. Obviously, $b := y \ominus x$ is an atom and y is not in the form (F). Then

$$\mathbf{y} = (\mathbf{y} \ominus \mathbf{x}) \oplus \mathbf{x} = b \oplus \left(\bigvee_{a \in M} n_a \otimes a\right) = \bigvee_{a \in M} b \oplus (n_a \otimes a).$$

But for $a \neq b$ we have $b \oplus (n_a \otimes a) = b \lor (n_a \otimes a)$, so

$$y = (b \oplus (n_b \otimes b)) \vee b \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a = ((n_b + 1) \otimes b) \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a$$

which is an element of the form (F), a contradiction.

▲ □ ▶ ▲ □ ▶ ▲ □ ▶

Suppose there is $z \in A$ which is not of the form (F). Then there exists $x \in A$ that is maximal among the elements which can be written in the form (F) and are less than or equal to z. Let $x = \bigvee_{a \in M} n_a \otimes a$. Further, there exists $y \in A$ such that $x \prec y \leq z$. Obviously, $b := y \ominus x$ is an atom and y is not in the form (F). Then

$$y = (y \ominus x) \oplus x = b \oplus \left(\bigvee_{a \in M} n_a \otimes a\right) = \bigvee_{a \in M} b \oplus (n_a \otimes a).$$

But for $a \neq b$ we have $b \oplus (n_a \otimes a) = b \lor (n_a \otimes a)$, so

 $y = (b \oplus (n_b \otimes b)) \vee b \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a = ((n_b + 1) \otimes b) \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a$

which is an element of the form (F), a contradiction.

Suppose there is $z \in A$ which is not of the form (F). Then there exists $x \in A$ that is maximal among the elements which can be written in the form (F) and are less than or equal to z. Let $x = \bigvee_{a \in M} n_a \otimes a$. Further, there exists $y \in A$ such that $x \prec y \leq z$. Obviously, $b := y \ominus x$ is an atom and y is not in the form (F). Then

$$y = (y \ominus x) \oplus x = b \oplus \left(\bigvee_{a \in M} n_a \otimes a\right) = \bigvee_{a \in M} b \oplus (n_a \otimes a).$$

But for $a \neq b$ we have $b \oplus (n_a \otimes a) = b \vee (n_a \otimes a)$, so

$$y = (b \oplus (n_b \otimes b)) \vee b \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a = ((n_b + 1) \otimes b) \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a$$

which is an element of the form (F), a contradiction.

▲ □ ▶ ▲ □ ▶ ▲ □ ▶

Suppose there is $z \in A$ which is not of the form (F). Then there exists $x \in A$ that is maximal among the elements which can be written in the form (F) and are less than or equal to z. Let $x = \bigvee_{a \in M} n_a \otimes a$. Further, there exists $y \in A$ such that $x \prec y \leq z$. Obviously, $b := y \ominus x$ is an atom and y is not in the form (F). Then

$$y = (y \ominus x) \oplus x = b \oplus \left(\bigvee_{a \in M} n_a \otimes a\right) = \bigvee_{a \in M} b \oplus (n_a \otimes a).$$

But for $a \neq b$ we have $b \oplus (n_a \otimes a) = b \vee (n_a \otimes a)$, so

 $y = (b \oplus (n_b \otimes b)) \vee b \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a = ((n_b + 1) \otimes b) \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a$

which is an element of the form (F), a contradiction.

Suppose there is $z \in A$ which is not of the form (F). Then there exists $x \in A$ that is maximal among the elements which can be written in the form (F) and are less than or equal to z. Let $x = \bigvee_{a \in M} n_a \otimes a$. Further, there exists $y \in A$ such that $x \prec y \leq z$. Obviously, $b := y \ominus x$ is an atom and y is not in the form (F). Then

$$y = (y \ominus x) \oplus x = b \oplus \left(\bigvee_{a \in M} n_a \otimes a\right) = \bigvee_{a \in M} b \oplus (n_a \otimes a).$$

But for $a \neq b$ we have $b \oplus (n_a \otimes a) = b \lor (n_a \otimes a)$, so

$$y = (b \oplus (n_b \otimes b)) \vee b \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a = ((n_b + 1) \otimes b) \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a$$

which is an element of the form (F), a contradiction.

- 4 同 2 4 日 2 4 日 2 4

Suppose there is $z \in A$ which is not of the form (F). Then there exists $x \in A$ that is maximal among the elements which can be written in the form (F) and are less than or equal to z. Let $x = \bigvee_{a \in M} n_a \otimes a$. Further, there exists $y \in A$ such that $x \prec y \leq z$. Obviously, $b := y \ominus x$ is an atom and y is not in the form (F). Then

$$y = (y \ominus x) \oplus x = b \oplus \left(\bigvee_{a \in M} n_a \otimes a\right) = \bigvee_{a \in M} b \oplus (n_a \otimes a).$$

But for $a \neq b$ we have $b \oplus (n_a \otimes a) = b \lor (n_a \otimes a)$, so

$$y = (b \oplus (n_b \otimes b)) \vee b \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a = ((n_b + 1) \otimes b) \vee \bigvee_{a \in M \setminus \{b\}} n_a \otimes a$$

which is an element of the form (F), a contradiction.

- For $a \in M$ the set $N(a) = \{n \otimes a \mid n \in \mathbb{N}_0\}$ is a finite chain $0 < a < \cdots < \hat{a}$.
- The RDP entails $N(a) = [0, \hat{a}]$.
- (N(a), ⊕_a, ¬_a, 0) is a basic algebra in which ⊖_a coincides with the original ⊖ in A.
- $(N(a), \oplus_{\hat{a}}, \neg_{\hat{a}}, 0)$ is a linearly ordered MV-algebra.

Theorem

The map

$$(x_a)_{a\in M}\mapsto \bigvee_{a\in M} x_a$$

is an isomorphism of ∏_{a∈M} N(a) onto A. Hence A is an MV-algebra.

- For $a \in M$ the set $N(a) = \{n \otimes a \mid n \in \mathbb{N}_0\}$ is a finite chain $0 < a < \cdots < \hat{a}$.
- The RDP entails $N(a) = [0, \hat{a}]$.
- (N(a), ⊕_â, ¬_â, 0) is a basic algebra in which ⊖_â coincides with the original ⊖ in A.
- $(N(a), \oplus_{\hat{a}}, \neg_{\hat{a}}, 0)$ is a linearly ordered MV-algebra.

Theorem

The map

$$(x_a)_{a\in M}\mapsto \bigvee_{a\in M} x_a$$

is an isomorphism of ∏_{a∈M} N(a) onto A. Hence A is an MV-algebra.

- For $a \in M$ the set $N(a) = \{n \otimes a \mid n \in \mathbb{N}_0\}$ is a finite chain $0 < a < \cdots < \hat{a}$.
- The RDP entails $N(a) = [0, \hat{a}]$.
- (N(a), ⊕_a, ¬_a, 0) is a basic algebra in which ⊖_a coincides with the original ⊖ in A.
- $(N(a), \oplus_{\hat{a}}, \neg_{\hat{a}}, 0)$ is a linearly ordered MV-algebra.

Theorem

The map

$$(x_a)_{a\in M}\mapsto \bigvee_{a\in M} x_a$$

is an isomorphism of ∏_{a∈M} N(a) onto A. Hence A is an MV-algebra.

- 4 同 2 4 日 2 4 日 2

- For $a \in M$ the set $N(a) = \{n \otimes a \mid n \in \mathbb{N}_0\}$ is a finite chain $0 < a < \cdots < \hat{a}$.
- The RDP entails $N(a) = [0, \hat{a}]$.
- (N(a), ⊕_a, ¬_a, 0) is a basic algebra in which ⊖_a coincides with the original ⊖ in A.
- $(N(a), \oplus_{\hat{a}}, \neg_{\hat{a}}, 0)$ is a linearly ordered MV-algebra.

Theorem

The map

$$(x_a)_{a\in M}\mapsto \bigvee_{a\in M} x_a$$

is an isomorphism of ∏_{a∈M} N(a) onto A. Hence A is an MV-algebra.

- For $a \in M$ the set $N(a) = \{n \otimes a \mid n \in \mathbb{N}_0\}$ is a finite chain $0 < a < \cdots < \hat{a}$.
- The RDP entails $N(a) = [0, \hat{a}]$.
- (N(a), ⊕_a, ¬_a, 0) is a basic algebra in which ⊖_a coincides with the original ⊖ in A.
- $(N(a), \oplus_{\hat{a}}, \neg_{\hat{a}}, 0)$ is a linearly ordered MV-algebra.

Theorem

The map

$$(x_a)_{a\in M}\mapsto \bigvee_{a\in M} x_a$$

is an isomorphism of $\prod_{a \in M} N(a)$ onto A. Hence A is an MV-algebra.

< ロ > < 同 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ >

The standard MV-algebra is the algebra $([0,1],\oplus,\neg,0)$, where

$$x \oplus y := \min\{1, x + y\}$$
 and $\neg x := 1 - x$.



Theorem

Let $([0,1], \oplus, \neg, 0)$ be a commutative basic algebra. Then (up to isomorphism) the negation is given by

$$\neg x := 1 - x.$$

| 4 同 🕨 🔺 🖹 🕨 🤘

The standard MV-algebra is the algebra $([0,1],\oplus,\neg,0)$, where

$$x \oplus y := \min\{1, x + y\}$$
 and $\neg x := 1 - x$.



Theorem

Let $([0,1],\oplus,\neg,0)$ be a commutative basic algebra. Then (up to isomorphism) the negation is given by

$$\neg x := 1 - x.$$

The standard MV-algebra is the algebra $([0,1],\oplus,\neg,0)$, where

$$x \oplus y := \min\{1, x + y\}$$
 and $\neg x := 1 - x$.



Theorem

Let $([0,1],\oplus,\neg,0)$ be a commutative basic algebra. Then (up to isomorphism) the negation is given by

$$\neg x := 1 - x.$$

- 4 回 ト 4 ヨ ト 4

Every complete (as a lattice) commutative basic algebra is a subdirect product of linearly ordered commutative basic algebras.

* * *

Two problems

- Is every commutative basic algebra a subdirect product of linearly ordered ones?
- Ind an associative basic algebra that is not an MV-algebra.

▲御▶ ▲理▶ ▲理≯

Every complete (as a lattice) commutative basic algebra is a subdirect product of linearly ordered commutative basic algebras.

* * *

Two problems

Is every commutative basic algebra a subdirect product of linearly ordered ones?

Find an associative basic algebra that is not an MV-algebra.

・ 同 ト ・ ヨ ト ・ ヨ ト

Every complete (as a lattice) commutative basic algebra is a subdirect product of linearly ordered commutative basic algebras.

* * *

Two problems

- Is every commutative basic algebra a subdirect product of linearly ordered ones?
- **②** Find an associative basic algebra that is not an MV-algebra.

・ 同 ト ・ ヨ ト ・ ヨ ト
An **effect algebra** is a structure (E, +, 0, 1) where 0, 1 are elements of E and + is a partial binary operation on E, satisfying the following conditions:

(EA1)
$$x + y = y + x$$
 if one side is defined,

(EA2)
$$x + (y + z) = (x + y) + z$$
 if one side is defined,

(EA3) for every x there exists a unique x' such that x' + x = 1,

(EA4) x + 1 is defined only for x = 0.

The underlying order:

$$x \leq y$$
 iff $y = x + z$ for some z ;

this z is denoted by y - x.

▲御▶ ▲理▶ ▲理≯

An **effect algebra** is a structure (E, +, 0, 1) where 0, 1 are elements of *E* and + is a partial binary operation on *E*, satisfying the following conditions:

(EA1)
$$x + y = y + x$$
 if one side is defined,

(EA2)
$$x + (y + z) = (x + y) + z$$
 if one side is defined,

(EA3) for every x there exists a unique x' such that x' + x = 1,

(EA4)
$$x + 1$$
 is defined only for $x = 0$.

The underlying order:

$$x \leq y$$
 iff $y = x + z$ for some z ;

this z is denoted by y - x.

A **D-poset** is a structure $(D, \leq, -, 0, 1)$ where $(D, \leq, 0, 1)$ is a bounded poset and - is a partial binary operation such that x - yis defined iff $x \geq y$, satisfying the conditions (DP1) x - 0 = x, (DP2) if $x \leq y \leq z$, then $z - y \leq z - x$ and (z - x) - (z - y) = y - x.

To a D-poset $(D, \leq, -, 0, 1)$ there corresponds the effect algebra (D, +, 0, 1) obtained by letting

$$x + y := z$$
 iff $z \ge y$ and $z - y = x$.

Lattice effect algebras/D-lattices are those with the underlying lattice order.

A **D-poset** is a structure $(D, \leq, -, 0, 1)$ where $(D, \leq, 0, 1)$ is a bounded poset and - is a partial binary operation such that x - yis defined iff $x \geq y$, satisfying the conditions (DP1) x - 0 = x, (DP2) if $x \leq y \leq z$, then $z - y \leq z - x$ and (z - x) - (z - y) = y - x.

To a D-poset $(D, \leq, -, 0, 1)$ there corresponds the effect algebra (D, +, 0, 1) obtained by letting

$$x + y := z$$
 iff $z \ge y$ and $z - y = x$.

Lattice effect algebras/D-lattices are those with the underlying lattice order.

A **D-poset** is a structure $(D, \leq, -, 0, 1)$ where $(D, \leq, 0, 1)$ is a bounded poset and - is a partial binary operation such that x - yis defined iff $x \geq y$, satisfying the conditions (DP1) x - 0 = x, (DP2) if $x \leq y \leq z$, then $z - y \leq z - x$ and (z - x) - (z - y) = y - x.

To a D-poset $(D, \leq, -, 0, 1)$ there corresponds the effect algebra (D, +, 0, 1) obtained by letting

$$x + y := z$$
 iff $z \ge y$ and $z - y = x$.

Lattice effect algebras/**D-lattices** are those with the underlying lattice order.

- (同) (回) (回) - 回

In each effect algebra/D-poset:

- $x \mapsto x' + a$ is an antitone involution on [a, 1],
- $x \mapsto a x$ is an antitone involution on [0, a].

Hence lattice effect algebras/D-lattices are basic algebras:

Theorem Let (E, +, 0, 1) be a lattice effect algebra. If we set $x \oplus y := (x \land y') + y$ and $\neg x := x'$, then $(E, \oplus, \neg, 0)$ is a basic algebra. Proof: $x \oplus y := (x^0 \lor y)^y = (x' \lor y)' + y = (x \land y') + y$.

< ロ > < 同 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < 回 > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ >

In each effect algebra/D-poset:

- $x \mapsto x' + a$ is an antitone involution on [a, 1],
- $x \mapsto a x$ is an antitone involution on [0, a].

Hence lattice effect algebras/D-lattices are basic algebras:

Theorem

Let (E, +, 0, 1) be a lattice effect algebra. If we set

$$x \oplus y := (x \wedge y') + y$$
 and $\neg x := x'$,

then $(E, \oplus, \neg, 0)$ is a basic algebra.

Proof: $x \oplus y := (x^0 \lor y)^y = (x' \lor y)' + y = (x \land y') + y.$

In each effect algebra/D-poset:

- $x \mapsto x' + a$ is an antitone involution on [a, 1],
- $x \mapsto a x$ is an antitone involution on [0, a].

Hence lattice effect algebras/D-lattices are basic algebras:

Theorem

Let (E, +, 0, 1) be a lattice effect algebra. If we set

$$x \oplus y := (x \wedge y') + y$$
 and $\neg x := x'$,

then $(E, \oplus, \neg, 0)$ is a basic algebra.

Proof: $x \oplus y := (x^0 \lor y)^y = (x' \lor y)' + y = (x \land y') + y$.

▲ 同 ▶ ▲ 国 ▶ ▲ 国 ▶ → 国

We have

•
$$x \ominus y := \neg (y \oplus \neg x) = x - (x \land y);$$

•
$$x + y = x \oplus y$$
 for $x \leq \neg y$;

•
$$x - y = x \ominus y$$
 for $x \ge y$.

Theorem

Let $(A, \oplus, \neg, 0)$ be a basic algebra, and define the partial operation + as follows:

x + y is defined iff $x \le \neg y$, in which case $x + y := x \oplus y$.

Then (A, +, 0, 1) is a lattice effect algebra if and only if $(A, \oplus, \neg, 0)$ satisfies the quasi-identity

 $x \leq \neg y$ & $x \oplus y \leq \neg z$ \Rightarrow $(x \oplus y) \oplus z = x \oplus (z \oplus y)$. (E)

- 4 同 2 4 日 2 4 日 2

We have

•
$$x \ominus y := \neg (y \oplus \neg x) = x - (x \land y);$$

•
$$x + y = x \oplus y$$
 for $x \leq \neg y$;

•
$$x - y = x \ominus y$$
 for $x \ge y$.

Theorem

Let $(A, \oplus, \neg, 0)$ be a basic algebra, and define the partial operation + as follows:

x + y is defined iff $x \le \neg y$, in which case $x + y := x \oplus y$.

Then (A, +, 0, 1) is a lattice effect algebra if and only if $(A, \oplus, \neg, 0)$ satisfies the quasi-identity

 $x \leq \neg y$ & $x \oplus y \leq \neg z$ \Rightarrow $(x \oplus y) \oplus z = x \oplus (z \oplus y)$. (E)

・ 戸 と ・ ヨ と ・ モ と ・

Theorem

Let $(A, \oplus, \neg, 0)$ be a basic algebra, and define the partial operation – as follows:

x - y is defined iff $x \ge y$, in which case $x - y := x \ominus y$.

Then $(A, \leq, -, 0, 1)$ is a D-lattice if and only if $(A, \oplus, \neg, 0)$ satisfies the quasi-identity

$$x \le y \le z \quad \Rightarrow \quad (z \ominus x) \ominus (z \ominus y) = y \ominus x.$$
 (E')

イロト 不得 トイヨト イヨト 二日

We call a basic algebra an **effect basic algebra** if it satisfies (E) (equivalently, (E')).

Effect basic algebras (= lattice effect algebras = D-lattices) form a variety. This variety is

- congruence regular and arithmetical;
- an ideal variety; the ideal terms (in y's) are

$$t_1(x, y_1, y_2) = x \land (y_1 \oplus y_2),$$

 $t_2(x, y) = \neg x \ominus \neg y.$

Effect basic algebras Compatibility and commutativity

In a lattice effect algebra, two elements x, y are **compatible** if

$$(x \lor y) - y = x - (x \land y).$$

Theorem

Let $(E, \oplus, \neg, 0)$ be an effect basic algebra and (E, +, 0, 1) the associated lattice effect algebra. Then $x, y \in E$ are compatible iff $x \oplus y = y \oplus x$.

Theorem

For every effect basic algebra E, the following are equivalent:

- E is an MV-algebra;
- *E* is commutative;
- E satisfies the RDP.

(日)

In a lattice effect algebra, two elements x, y are **compatible** if

$$(x \lor y) - y = x - (x \land y).$$

Theorem

Let $(E, \oplus, \neg, 0)$ be an effect basic algebra and (E, +, 0, 1) the associated lattice effect algebra. Then $x, y \in E$ are compatible iff $x \oplus y = y \oplus x$.

Theorem

For every effect basic algebra E, the following are equivalent:

- *E* is an MV-algebra;
- *E* is commutative;
- E satisfies the RDP.

- 4 同 6 4 日 6 4 日 6

In a lattice effect algebra, two elements x, y are **compatible** if

$$(x \lor y) - y = x - (x \land y).$$

Theorem

Let $(E, \oplus, \neg, 0)$ be an effect basic algebra and (E, +, 0, 1) the associated lattice effect algebra. Then $x, y \in E$ are compatible iff $x \oplus y = y \oplus x$.

Theorem

For every effect basic algebra E, the following are equivalent:

- *E* is an MV-algebra;
- E is commutative;
- E satisfies the RDP.

イロト イポト イヨト イヨト

A **block** is a maximal subset whose elements commute. The **MV-centre** is the intersection of the blocks.

Theorem

For every basic algebra *E*, the following are equivalent:

E is an effect basic algebra;

every block of E is a subalgebra which itself is an MV-algebra.

Theorem

Let E be an effect basic algebra. If E is subdirectly irreducible, then its MV-centre MV(E) is a subdirectly irreducible MV-algebra (hence MV(E) is linearly ordered).

- 4 同 6 4 回 6 4 回 6

A **block** is a maximal subset whose elements commute. The **MV-centre** is the intersection of the blocks.

Theorem

For every basic algebra E, the following are equivalent:

- *E* is an effect basic algebra;
- **2** every block of E is a subalgebra which itself is an MV-algebra.

Theorem

Let *E* be an effect basic algebra. If *E* is subdirectly irreducible, then its MV-centre MV(E) is a subdirectly irreducible MV-algebra (hence MV(E) is linearly ordered).

▲御▶ ▲理▶ ▲理≯

A **block** is a maximal subset whose elements commute. The **MV-centre** is the intersection of the blocks.

Theorem

For every basic algebra E, the following are equivalent:

- *E* is an effect basic algebra;
- **2** every block of E is a subalgebra which itself is an MV-algebra.

Theorem

Let *E* be an effect basic algebra. If *E* is subdirectly irreducible, then its MV-centre MV(E) is a subdirectly irreducible MV-algebra (hence MV(E) is linearly ordered).

▲□ ▶ ▲ □ ▶ ▲ □ ▶ ...



Theorem

The variety generated by the algebra from Example 1 is axiomatized, relative to the variety of distributive EBA's, by the identity $(x \ominus y) \ominus (z \oplus z) = (x \ominus (z \oplus z)) \ominus (y \ominus (z \oplus z))$.

B N



Theorem

The variety generated by the algebra from Example 1 is axiomatized, relative to the variety of distributive EBA's, by the identity $(x \ominus y) \ominus (z \oplus z) = (x \ominus (z \oplus z)) \ominus (y \ominus (z \oplus z))$.

イロン 不同 とくほう イロン

э

Cantor-Bernstein theorem Boolean algebras and MV-algebras

- Let A and B be σ-complete Boolean algebras. If A is isomorphic to [0, a] ⊆ B and B is isomorphic to [0, b] ⊆ A, then A ≅ B.
- Let A and B be σ-complete MV-algebras. If A is isomorphic to [0, a] ⊆ B and B is isomorphic to [0, b] ⊆ A where a, b are complemented elements, then A ≅ B.



Cantor-Bernstein theorem Central elements



Definition

We say that $a \in A$ is a **central element** in a basic algebra A if

$$a = f^{-1}(0, 1)$$
 or $a = f^{-1}(1, 0)$

for some direct product decomposition $f: A \cong A_1 \times A_2$. The **centre** of *A*, *C*(*A*), is the set of all central elements.

< A > <

Cantor-Bernstein theorem Central elements

- *C*(*A*) is a subalgebra of *A* and a Boolean algebra in its own right.
- If A is a commutative basic algebra, then a ∈ C(A) iff a is complemented iff ¬a is a complement of a.
- If A is an effect basic algebra, then a ∈ C(A) iff ¬a is a complement of a and a ∈ MV(A).

Cantor-Bernstein type theorem

Let A, B be basic algebras satisfying certain conditions. If

- $A \cong [0, a] \subseteq B$ for some $a \in C(B)$ and
- $B \cong [0, b] \subseteq A$ for some $b \in C(A)$,

then $A \cong B$.

▲圖 ▶ ▲ 臣 ▶ ▲ 臣 ▶

Cantor-Bernstein theorem

Let \mathcal{K} be a \mathcal{K} -congruence distributive quasivariety. We shall say that an algebra $A \in \mathcal{K}$ satisfies the condition \mathscr{P} if for every countable set $\{\theta_i \mid i \in I\}$ of factor \mathcal{K} -congruences of A such that $\theta_j \circ \theta_k = \nabla_A$ for all $j \neq k$, the congruence

$$\theta_{\infty} := \bigcap_{i \in I} \theta_i$$

is a factor \mathcal{K} -congruence of A and

$$A/\theta_{\infty} \cong \prod_{i\in I} A/\theta_i.$$

Theorem

Let A and B be two algebras in $\mathcal K$ satisfying the condition $\mathscr P$. If

$$A \cong B \times C$$
 and $B \cong A \times D$

for some $C, D \in \mathcal{K}$, then $A \cong B$.

Lemma

Let $A \in \mathcal{K}$ and ϕ be a factor \mathcal{K} -congruence of A. Then $\theta \supseteq \phi$ is a factor \mathcal{K} -congruence of A if and only if θ/ϕ is a factor \mathcal{K} -congruence of A/ϕ .

Lemma

Let $A \in \mathcal{K}$. If A satisfies \mathscr{P} , then so does A/ϕ for every factor \mathcal{K} -congruence ϕ of A.

▲ □ ▶ ▲ □ ▶ ▲

Lemma

Let $A \in \mathcal{K}$ satisfy the condition \mathscr{P} . Let $\theta_1 \subseteq \theta_2$ be factor \mathcal{K} -congruences of A. If $A \cong A/\theta_2$, then $A \cong A/\theta_1$.

Proof: We construct the sequence $\theta_0 \subseteq \theta_1 \subseteq \theta_2 \subseteq \theta_3 \subseteq \ldots$ of factor \mathcal{K} -congruences of A so that $A/\theta_n \cong A/\theta_{n+2}$ for all $n \in \mathbb{N}_0$:

- $\theta_0 := \Delta_A$ and $\theta_1 \subseteq \theta_2$ are the initial congruences;
- Once $\theta_0 \subseteq \theta_1 \subseteq \ldots \subseteq \theta_{n-1}$ $(n \ge 3)$ satisfying $A/\theta_i \cong A/\theta_{i+2}$ for all $i = 0, 1, \ldots, n-3$ are given, the congruence θ_n is defined by the rule

$$\theta_n/\theta_{n-1} = f(\theta_{n-2}/\theta_{n-3})$$

where $f: A/\theta_{n-3} \cong A/\theta_{n-1}$.

Skipping trivialities, we have $\theta_0 \subset \theta_1 \subset \cdots \subset \theta_{n-1} \subset \theta_n \subset \cdots$.

Cantor-Bernstein theorem

For every $n \in \mathbb{N}_0$, let ϕ_n/θ_n be the complement $(\theta_{n+1}/\theta_n)^*$ of θ_{n+1}/θ_n in the lattice $\operatorname{Con}_{\mathcal{K}}(A/\theta_n)$. Then ϕ_n is a factor \mathcal{K} -congruence of A. Under the isomorphism $A/\theta_n \cong A/\theta_{n+2}$, ϕ_n/θ_n corresponds to ϕ_{n+2}/θ_{n+2} . Hence

$$A/\phi_n \cong (A/\theta_n)/(\phi_n/\theta_n) \cong (A/\theta_{n+2})/(\phi_{n+2}/\theta_{n+2}) \cong A/\phi_{n+2}.$$

It is easily seen that $\phi_j \circ \phi_k = \nabla_A$ for all $j \neq k$. Now, the property \mathscr{P} implies that $\phi_{\infty} := \bigcap_{n \in \mathbb{N}_0} \phi_n$ is a factor \mathcal{K} -congruence of A and

$$A/\phi_{\infty} \cong \prod_{n \in \mathbb{N}_0} A/\phi_n \cong A/\phi_0 \times A/\phi_1 \times A/\phi_0 \times A/\phi_1 \times \dots,$$

whence

$$A \cong A/\phi_{\infty}^* \times A/\phi_{\infty} \cong A/\phi_{\infty}^* \times A/\phi_0 \times A/\phi_1 \times A/\phi_0 \times A/\phi_1 \times \dots$$

→ @ → < @ → < @ → < @

Cantor-Bernstein theorem

For every $n \in \mathbb{N}$, ϕ_n/θ_1 is a factor \mathcal{K} -congruence of A/θ_1 since $\phi_n \supseteq \theta_n \supseteq \theta_1$. We have $(\phi_j/\theta_1) \circ (\phi_k/\theta_1) = \nabla_{A/\theta_1}$ for $j \neq k$. Since A/θ_1 fulfils \mathscr{P} ,

$$\psi/\theta_1 := \bigcap_{n \in \mathbb{N}} \phi_n/\theta_1$$

is a factor \mathcal{K} -congruence of $A/ heta_1$ and

$$A/\theta_1 \cong (A/\theta_1)/(\psi/\theta_1)^* \times \prod_{n \in \mathbb{N}} (A/\theta_1)/(\phi_n/\theta_1).$$

Obviously, $\psi = \bigcap_{n \in \mathbb{N}} \phi_n$ and so $\phi_{\infty} = \psi \cap \phi_0$, where $\phi_0 = \theta_1^*$ as $\phi_0/\theta_0 = (\theta_1/\theta_0)^*$ in $\operatorname{Con}_{\mathcal{K}}(A/\theta_0)$ and $\theta_0 = \Delta_A$. Further, let $\psi^{\natural}/\theta_1 := (\psi/\theta_1)^*$.

Then

$$A/\theta_1 \cong A/\psi^{\natural} \times \prod_{n \in \mathbb{N}} A/\phi_n.$$

- (同) (回) (回) - 回

Since ψ^{\natural} is the complement of ψ in $[\theta_1, \nabla_A]_{Con_{\mathcal{K}}(A)}$, we have $\psi^{\natural} = \psi^* \vee \theta_1 = \psi^* \vee \phi_0^* = (\psi \cap \phi_0)^* = \phi_{\infty}^*$ where ψ^* is the complement of ψ in $Con_{\mathcal{K}}(A)$. Hence

$$\begin{aligned} \mathsf{A}/\theta_1 &\cong \mathsf{A}/\psi^{\natural} \times \prod_{n \in \mathbb{N}} \mathsf{A}/\phi_n = \mathsf{A}/\phi_{\infty}^* \times \prod_{n \in \mathbb{N}} \mathsf{A}/\phi_n \\ &\cong \mathsf{A}/\phi_{\infty}^* \times \mathsf{A}/\phi_1 \times \mathsf{A}/\phi_0 \times \mathsf{A}/\phi_1 \times \mathsf{A}/\phi_0 \times \dots \end{aligned}$$

which together with

$$A \cong A/\phi_{\infty}^* \times A/\phi_0 \times A/\phi_1 \times A/\phi_0 \times A/\phi_1 \times \dots$$

yields $A \cong A/\theta_1$.

Proof of the theorem:

Let $A \cong B \times C$ and $B \cong A \times D$. Then $A \cong A \times D \times C$. Let θ_1 and θ_2 be the congruences on A corresponding, respectively, to the projections $p_1: (a, d, c) \mapsto (a, d)$ and $p_2: (a, d, c) \mapsto a$. Then $\theta_1 \subseteq \theta_2$ and $A \cong A/\theta_2$. Hence by the last lemma we have $A \cong A/\theta_1 \cong A \times D \cong B$.

・ 戸 ・ ・ ヨ ・ ・ ヨ ・ ・

Cantor-Bernstein theorem

... for basic algebras

The condition ${\mathscr P}$

If $\{\theta_i \mid i \in I\}$ is a countable set of factor \mathcal{K} -congruences with $\theta_i \circ \theta_j = \nabla_A$ for all $i \neq j$, then **1** $\theta_{\infty} := \bigcap_{i \in I} \theta_i$ is a factor \mathcal{K} -congruence,

$$A/\theta_{\infty} \cong \prod_{i \in I} A/\theta_i.$$

In basic algebras, the factor congruences correspond one-one to the central elements:

The condition \mathscr{P} for basic algebras

If $\{a_i \mid i \in I\}$ is a countable set of central elements such that $a_i \wedge a_j = 0$ for all $i \neq j$, then

- $a_{\infty} := \bigvee_{i \in I} a_i$ exists and is a central element,
- Of for every {x_i | i ∈ I} ⊆ A such that x_i ≤ a_i for all i ∈ I, the supremum V_{i∈I} x_i exists.

A basic algebra is **orthogonally** σ -complete if there exists the supremum $\bigvee X$ of every countable subset X such that $x \land y = 0$ for all $x \neq y$.

Theorem

Let A and B be orthogonally σ -complete commutative (or effect) basic algebras. If

- $A \cong [0, a] \subseteq B$ for some $a \in C(B)$ and
- $B \cong [0, b] \subseteq A$ for some $b \in C(A)$,

then $A \cong B$.

・ 戸 ・ ・ ヨ ・ ・ ヨ ・ ・

Some references

- M. Botur, R. Halaš: Finite commutative basic algebras are MV-effect algebras, J. Mult.-Val. Log. Soft Comput. 14 (2008), 69–80.
- I. Chajda: An extension of relative pseudocomplementation to non-distributive lattices, Acta Sci. Math. (Szeged) 69 (2003), 491–496.
- I. Chajda, R. Halaš: Varieties of lattice effect algebras generated by four-element members, Acta Sci. Math. (Szeged) 74 (2008), 49–64.
- I. Chajda, R. Halaš, J. Kühr: Distributive lattices with sectionally antitone involutions, Acta Sci. Math. (Szeged) 71 (2005), 19–33.
- I. Chajda, R. Halaš, J. Kühr: Semilattice Structures, Heldermann Verlag, Lemgo, 2007.

▲□ ▶ ▲ □ ▶ ▲ □ ▶

Some references

- I. Chajda, R. Halaš, J. Kühr: Many-valued quantum algebras, Algebra Univers. 60 (2009), 63–90.
- I. Chajda, M. Kolařík: Independence of axiom system of basic algebras, Soft Comput. 13 (2009), 41–43.
- A. De Simone, D. Mundici, M. Navara: A Cantor-Bernstein theorem for σ-complete MV-algebras, Czechoslovak Math. J. 53 (2003), 437–447.
- A. Dvurečenskij, S. Pulmannová: New Trends in Quantum Structures, Kluwer Acad. Publ., Dordrecht/Ister Science, Bratislava, 2000.
- G. Jenča: A Cantor-Bernstein type theorem for effect algebras, Algebra Univers. 48 (2002), 399–411.
- J. Kühr: Cantor-Bernstein theorem for pseudo-BCK-algebras, Int. J. Theor. Phys. 47 (2008), 212–222.